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* Seclect the option that 1s related to the fourth number in the same way as the

first number 1s related to the second number and the fifth number 1s related to
the sixth number.
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* Two different positions of the same dice are shown, the six faces of which are
numbered from 1 to 6. Select the number that will be on the face opposite to the

one having '4".
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* Select the word-pair in which the two words are related in the same way as are
the two words in the following word-pair.

(@ @
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* Courage : Bravery(HTg¥ : ST
iy \‘\ A. Afraid : Lazy(¥a¥id : 3TTeTd!)
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B. Patience : Violent(& : i&0ah)
C. Systematic : Orderly(oe‘lollr%?m ;
ST L)
D. Aggressive : Fragile(3ATshTH : 34"‘\1;()
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* How many triangles are there in the figure given below?

o it <1 1S STTeR{ | fohd Byt 87




* Select the option that 1s related to the third term 1n the same way as the second
term 1s related to the first term.
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gefera g
* TANGLE : XERKPI : : FIGHTS : ?

A.JMKLXW
o\t B. INOLXW
| C. IMKMXX

| D.KMKLYW
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* Seclect the combination of letters that when sequentially placed in the blanks of
the given series will complete the series.

® 37T oh IH TS kT I ohi STT af 7T ST o 1ith TATF H shideh &9 8 W I T
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* A family consists of six members. Surendar 1s the son of Revant. Pranavi 1s
the wife of Revant. Yugal 1s the brother of Revant. Kundana is the daughter of
Pranavi. Janardan is the brother of Pranavi. How many children does Pranavi

have?
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* Select the correct mirror image of the given combination when the mirror is
placed at MN as shown.
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® Statements:

® Some drivers are artists./$® IgIL Al H
* All fathers are artists./@1 fUdT HATRR %l
® No fatheris a doctor./ﬁ—sc fUar et 181 =)

® Conclusions:

® I. No doctor 1s an artist./oh\lsc Sl hdlh X Aol %l
* [1. No driver is a doctor./aTs ST STl g ol

® [II. Some artists are fathers./gh@ hAThIL ﬁ?IT%I




* Select the number from among the given options that can replace the question
mark (?) in the following series.

o fau T forshedl | 38 HE&AT T < s ST TR @t § 957 <18 (2) <l
SfrEeTiia T Hehd! |
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)

‘an)




* Three of the following four letter-cluster pairs are alike in a certain way and
one 1s different. Select the odd one.

o TTcTRaT AT T&R-EHE T | § 1 Teh M2 aiieh § 90 & 31 Th 37T 2
o s &1 == R

A.TAP : VDT

\ a} : B.RAT : TDX
| A C.FRY : HTB
D.DRY : FUC




* Select the option 1in which the numbers 1n the set share the same relationship as

the numbers in the given set.

o 34 faehcT AT == o SO d¢ | 9T U 70 9 § STl o 9H Geel Te

AT 2
* (25,19, 36)

A.(22,17,25)
B.(27, 11, 38)
C. (24,22, 49)
D.(20, 14, 66)




* In a group of 72 workers, each worker participates in one or more of three
activities, 1.e. Quiz, Mono-acting and Mimicry. 11 workers participate in Quiz
only, 15 participate in Mono-acting only and 14 participate in Mimicry only. If
5 workers participate in all three activities, then how many workers participate

n any two activities?

® 72 HHehT o Teh GHE H, Ycish hIdehd| Ueh AT SATEMeh o1 T el H HIT oidl 8, e

forarst, o-wferd ot fufish 11 rRierdt shact forast § YT Ad 2, 15 Shadd HIH1-
TFTT | 91T oId & ST 14 shaet TTHsh T 90T oid 81 Tfe 5 swa=m =1 niafafery &
Sehdl Toheal T M2 § WHT oid 87 A.27
B. 15
C.25

D.37




* In the Venn diagram given below, If 'Hexagon' represents 'Farmers','Triangle'
represents 'Villagers' and 'Square' represents 'Beneficiaries', then how many

Farmers are there who are Villagers abd Baneficiaries also?

o fier fou w39 G |, IS TFET ToRET ! SR ST HTered shidT =, TIehior TTHio
hT TfTerce ST & 3T ST AT Rl ST =ercd shidT =, df Ud fohd- forem &




* In a certain code language, ' MODERATE' is written as 'OQEFTBVF' and
'LIFE' is written as 'NJGF'. How will 'CLEAR' be written in that language?

* U ATy s 9T U, 'MODERATE' 31 'OQEFTBVE' 3R 'LIFE' &1 'NJGF'
feTET STTdT 21 39 9T § 'CLEAR' -8 for@r s

A.DNGBU

C.DNFBT
D.DOFCT

\‘ * B.ENFBT
w O/J_%




® In a code language, if LOCK 1s written as 1212311 and KEY 1s written as
112225, then how will DEAR be written in the same language?

® Tsh o< |9 H, I LOCK % 1212311 R KEY I 112225 fei@n ST 8, a1 36t
WTST H DEAR ! sh¥l fof SITam?

A.4220218
B. 4052619
C. 4232609
D.4222618




® Four number-pairs have been given, out of which three are alike in some

manner and one 1s different. Select the one that 1s different.

* IR EAT-TH fu C &, 58 § i forelt Terit § Te o9 & 37 Uk 197 2| 8 <
ST =T 2




* Select the option that 1s related to the third word in the same way as the second
word 1s related to the first word.

o 39 foohed T I3 L S 1o 3Tec 9 3T TohK GfYd & 9 TH 313 Ject Iloc O
Geferd 2l

® Kick : Football : : Backstroke : ?

A. Weight lifting

B. Swimming

@® | C. Cricket

D. Polo

UK




* Select the option that represents the correct order of the given words as they would
appear in an English dictionary.

o 3 fIoncd T T ol ST QU U S1eaT o @t ShH T TTdHTScd ShidT & ST9 o ST

gTsashIsT H fa@Te an)

® 1. Primary

® 2. Pristine ik’ | A.4,3,5,2,1

e 3. Predator I B.4,5,3,1,2
® 4. Precaution C.3,4,5,1,2

® 5. Preserve D.4,3,5,1,2




